HINDI
Paper 1
(Two Hours)

Mmmwers to this paper must be written on the paper provided separately.
You will NOT be allowed to write during the first 15 minutes.

This time is to be spent in reading the question paper.

e s giwem @t the head of this paper is the time allowed for writing the answers.

Attempt ALL questions.
: ' e muemded marks for questions or parts of questions are given in brackets [ ].

sz

Wi 2 short composition in Hindi in NOT less than four hundred (400) words on any
WINE of e following topics :— [25]
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Question 2
Write a letter in Hindi on any ONE of the topics given below :— [15]
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= @ven below carefully and answer in Hindi the questions that follow, using
s as far as possible :—
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AT FEHT T% IR AT wf #1 9 Mg | e Bl o of FA & 9@ wgd Rl 7
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Question 4

(a) Give the meanings of any FOUR of the words. (Meaning should be according to the
word as used in the passage.)
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() Give the antonym of any FOUR of the following words. (Do not give more than one

word.)
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(c) Givetwo synonyms each of any four of the following words :— |
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F mie the following sentences as instructed :— , (3]
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| (2 Change mto an affirmative sentence.)
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